Kin CepegHi
-cT Bucokunn HdocTaTHin CepepHin MoyaTkoBM1 Cepenh 1 6anno
Knac Mpeomer b piBEHb piBeHb piBeHb iBEHb it 6an wkoni
YHi 1|1
B 1|10|%|9]| 8|7 % 6 |5]| 4 % 3 (2|1 %
3apybixHa 2
5-a niteparypa 15 112 0| 2] 4] 3 60 2| 1] O 201 00| O 0 7,9
3apybixHa 1 62, 18,
5-0 niteparypa 16 1] 1 3| 2] 3|5 51 31 0| O 81 0]0|O0 0 7,3
3apybixHa 2 45, 22, 9,
6-a nitepartypa 22 0] 531 2] 35 51 1[3] 1 71 2]10]0 1 7,2
3apybixHa 2 37,
6-6 niteparypa 24 41 3| 9] 3] 3] 3 51 2| 4] 0 251 00| O 0 7,4
3apybixHa 1 34, 30, 3,
7 niteparypa 26 21 31 9] 1] 2| 6 6 4| 2] 2 81 1]10|0 8 6,3 6.7
3apybixHa 1 18, !
8-a nitepartypa 16 0Ol 2| 3] 1] 3[ 4 50| 0 2] 1 81 2]0]0]| 13 6,3
3apybixHa
8-6 niteparypa 15 0Ol Of O] O 4| 2 40| 4| 3| 2 60| 0|]0|O 0 6,2
3apybixHa 1 33, 46,
9-a nitepartypa 15 0] 2 3] 1] 2f 2 31 0f 3] 4 71 11110 13 6,3
3apybixHa 1 35, 35,
9-6 | niteparypa 17 1] 2] 8] 1] 2] 3 3] 4 1] 1 3/ oflo|o] 0 6,5
3apybixHa 1
10 niteparypa 25 0l 3 2] 5] 0] 3 32| 4 1] 3 32| 6|0|0| 24 6,2
3apybixHa 77,
11 niteparypa 9 0l 0of 0] 0] Of O 0Ol 4 0] 3 81 2]0]0| 22 4,7
2 1 2 3 2 2 1 1
200 9 3 8 6 6 8 0 7 4 1 O
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